

Project Name:Workman Mill Road LandscapingProject ID:RDC0016340Bids Opened:6/30/2020Office Engineer:Joel Zaragoza 626-458-4973

			Engineer's Estimate		(1) United Construction & Landscape, Inc.			(2) Yakar		Inc.		cape Support Services	
(1) Pre	liminary Bid Amount						\$887,392.32		\$921,212.00		\$924,991.75		\$927,979.00
(2) Un	it Price Detail												
Item	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$5,000)	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$750/MONTH)	3	\$750.00	MTH	\$2,250.00	\$750.00	\$2,250.00	\$750.00	\$2,250.00	\$750.00	\$2,250.00	\$750.00	\$2,250.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$2,000)	1	\$2,000.00	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
4	IMPLEMENTATION OF BMPS	1	\$5,000.00	LS	\$5,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
5	OFFICE FACILITIES	3	\$5,000.00	MTH	\$15,000.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00	\$1,060.00	\$3,180.00	\$2,908.00	\$8,724.00
6	MOBILIZATION	1	\$35,000.00	LS	\$35,000.00	\$12,000.00	\$12,000.00	\$47,500.00	\$47,500.00	\$5,000.00	\$5,000.00	\$61,850.00	\$61,850.00
7	CLEARING AND GRUBBING	1	\$2,000.00	LS	\$2,000.00	\$15,000.00	\$15,000.00	\$27,500.00	\$27,500.00	\$6,000.00	\$6,000.00	\$1,459.00	\$1,459.00
8	CONCRETE REMOVAL (NON- REINFORCED)	86	\$162.00	CY	\$13,932.00	\$325.00	\$27,950.00	\$265.00	\$22,790.00	\$170.00	\$14,620.00	\$513.00	\$44,118.00
9	UNCLASSIFIED EXCAVATION	595	\$87.00	CY	\$51,765.00	\$60.00	\$35,700.00	\$105.00	\$62,475.00	\$86.00	\$51,170.00	\$67.50	\$40,162.50
10	PCC WALK, 4" THICK	3179	\$7.00	SF	\$22,253.00	\$30.00	\$95,370.00	\$13.00	\$41,327.00	\$8.25	\$26,226.75	\$13.50	\$42,916.50
11	TRAFFIC CONTROL	1	\$40,000.00	LS	\$40,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$33,937.00	\$33,937.00
12	FLASHING ARROW SIGN	2	\$5,000.00	EA	\$10,000.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,440.50	\$2,881.00
13	LANDSCAPING	1	\$35,970.00	LS	\$35,970.00	\$118,922.35	\$118,922.35	\$45,000.00	\$45,000.00	\$82,550.00	\$82,550.00	\$54,239.00	\$54,239.00
14	IRRIGATION SYSTEM	1	\$170,030.00	LS	\$170,030.00	\$193,952.34	\$193,952.34	\$255,000.00	\$255,000.00	\$142,375.00	\$142,375.00	\$251,958.00	\$251,958.00
15	PLANT ESTABLISHMENT PERIOD	1	\$4,800.00	LS	\$4,800.00	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	\$14,400.00	\$14,400.00	\$3,511.00	\$3,511.00
16	DECOMPOSED GRANITE, 4" THICK	9975	\$5.00	SF	\$49,875.00	\$4.15	\$41,396.25	\$3.50	\$34,912.50	\$2.13	\$21,246.75	\$3.50	\$34,912.50

Project Name:Workman Mill Road LandscapingProject ID:RDC0016340Bids Opened:6/30/2020Office Engineer:Joel Zaragoza 626-458-4973

		Engineer's Estimate		(1) United Construction & Landscape, Inc.		(2) Yakar		(3) Martinez Landscape Co., Inc.		(4) Landscape Support Services			
(1) Preliminary Bid Amount						\$887,392.32	\$921,212.00		\$924,991.75		\$927,979.00		
(2) Uni	t Price Detail												
Item	Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
17	WELDED WIRE VINE TRELLIS	3915	\$90.00	LF	\$352,350.00	\$51.50	\$201,622.50	\$69.00	\$270,135.00	\$107.35	\$420,275.25	\$63.40	\$248,211.00
18	ALUMINUM HEADER	6650	\$7.00	LF	\$46,550.00	\$5.92	\$39,368.00	\$8.50	\$56,525.00	\$10.00	\$66,500.00	\$9.06	\$60,249.00
19	REMOVE EXISTING WOOD	6650	\$2.00	LF	\$13,300.00	\$1.13	\$7,514.50	\$0.50	\$3,325.00	\$0.52	\$3,458.00	\$0.37	\$2,460.50
	HEADER												
20	IMPORTED CLASS A TOPSOIL	143	\$60.00	CY	\$8,580.00	\$264.66	\$37,846.38	\$90.00	\$12,870.00	\$180.00	\$25,740.00	\$150.00	\$21,450.00
21	AGRONOMIC SOIL REPORT	6	\$175.00	EA	\$1,050.00	\$250.00	\$1,500.00	\$100.00	\$600.00	\$350.00	\$2,100.00	\$115.00	\$690.00
Unit Price Total				\$886,705.00		\$887,392.32		\$921,209.50		\$924,991.75		\$927,979.00	
(3) LSBE/DVBE/SE Preference Amount							\$0.00		\$62,117.46		\$62,117.46		\$62,117.46
(4) LSBE/DVBE/SE Adjusted Amount						\$887,392.32		\$859,092.04		\$862,874.29		\$865,861.54	
Comments								APPARENT	LOW BIDDER				



Los Angeles County Public Works Construction Division **BID SUMMARY** (sorted by Unit Price Total)

Project Name:Workman Mill Road LandscapingProject ID:RDC0016340Bids Opened:6/30/2020Office Engineer:Joel Zaragoza 626-458-4973

			Engineer's Estimate		(5) F S Construction		(6) Marina Landscape Company						
(1) Preliminary Bid Amount						\$969,615.00		\$979,802.50	9	\$1,022,796.21			
(2) Uni	t Price Detail												
Item	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED	1	\$5,000.00	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		
	UNIT PRICE OF \$5,000)		¢750.00	N 471 1	¢0.050.00	¢750.00	\$2.250.00	¢750.00	¢0.050.00	¢750.00	\$2.250.00		
2		3	\$750.00	MIH	\$2,250.00	\$750.00	\$2,250.00	\$750.00	\$2,250.00	\$750.00	\$2,250.00		
	(UPDATE) (STIPULATED UNIT PRICE OF \$750/MONTH)												
3	CONSTRUCTION SCHEDULE	1	\$2,000.00	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00		
	(AS-BUILT) (STIPULATED UNIT												
	PRICE OF \$2,000)												
4	IMPLEMENTATION OF BMPS	1	\$5,000.00	LS	\$5,000.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$14,400.00	\$14,400.00		
5	OFFICE FACILITIES	3	\$5,000.00	MTH	\$15,000.00	\$3,000.00	\$9,000.00	\$2,500.00	\$7,500.00	\$2,760.00	\$8,280.00		
6	MOBILIZATION	1	\$35,000.00	LS	\$35,000.00	\$10,000.00	\$10,000.00	\$55,000.00	\$55,000.00	\$114,240.00	\$114,240.00		
7	CLEARING AND GRUBBING	1	\$2,000.00	LS	\$2,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$14,400.00	\$14,400.00		
8	CONCRETE REMOVAL (NON-	86	\$162.00	CY	\$13,932.00	\$500.00	\$43,000.00	\$580.00	\$49,880.00	\$476.43	\$40,972.98		
	REINFORCED)												
9	UNCLASSIFIED EXCAVATION	595	\$87.00	CY	\$51,765.00	\$70.00	\$41,650.00	\$100.00	\$59,500.00	\$200.47	\$119,279.65		
10	PCC WALK, 4" THICK	3179	\$7.00	SF	\$22,253.00	\$25.00	\$79,475.00	\$25.00	\$79,475.00	\$14.40	\$45,777.60		
11	TRAFFIC CONTROL	1	\$40,000.00	LS	\$40,000.00	\$25,000.00	\$25,000.00	\$27,000.00	\$27,000.00	\$60,000.00	\$60,000.00		
12	FLASHING ARROW SIGN	2	\$5,000.00	EA	\$10,000.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00	\$6,120.00	\$12,240.00		
13	LANDSCAPING	1	\$35,970.00	LS	\$35,970.00	\$85,000.00	\$85,000.00	\$55,000.00	\$55,000.00	\$42,420.00	\$42,420.00		
14	IRRIGATION SYSTEM	1	\$170,030.00	LS	\$170,030.00	\$305,000.00	\$305,000.00	\$235,000.00	\$235,000.00	\$185,325.00	\$185,325.00		
15	PLANT ESTABLISHMENT	1	\$4,800.00	LS	\$4,800.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$6,300.00	\$6,300.00		
	PERIOD												

Project Name:Workman Mill Road LandscapingProject ID:RDC0016340Bids Opened:6/30/2020Office Engineer:Joel Zaragoza 626-458-4973

				Engineer's Estimate		(5) F S Construction		(6) Marina Landscape Company		(7) Access Pacific, Inc.			
(1) Preliminary Bid Amount						\$969,615.00		\$979,802.50		\$1,022,796.21			
(2) Un	t Price Detail												
<u>Item</u>	Description	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
16	DECOMPOSED GRANITE, 4"	9975	\$5.00	SF	\$49,875.00	\$4.00	\$39,900.00	\$5.50	\$54,862.50	\$4.46	\$44,488.50		
	THICK												
17	WELDED WIRE VINE TRELLIS	3915	\$90.00	LF	\$352,350.00	\$60.00	\$234,900.00	\$66.00	\$258,390.00	\$59.23	\$231,885.45		_
18	ALUMINUM HEADER	6650	\$7.00	LF	\$46,550.00	\$7.00	\$46,550.00	\$6.00	\$39,900.00	\$7.35	\$48,877.50		_
19	REMOVE EXISTING WOOD	6650	\$2.00	LF	\$13,300.00	\$1.00	\$6,650.00	\$1.50	\$9,975.00	\$1.58	\$10,507.00		_
	HEADER												
20	IMPORTED CLASS A TOPSOIL	143	\$60.00	CY	\$8,580.00	\$80.00	\$11,440.00	\$90.00	\$12,870.00	\$89.25	\$12,762.75		
21	AGRONOMIC SOIL REPORT	6	\$175.00	EA	\$1,050.00	\$300.00	\$1,800.00	\$200.00	\$1,200.00	\$236.25	\$1,417.50		
Unit Price Total				\$886,705.00		\$969,615.00		\$979,802.50		\$1,022,823.93			
(3) LSBE/DVBE/SE Preference Amount						\$62,117.46		\$0.00		\$0.00			
(4) LSBE/DVBE/SE Adjusted Amount						\$907,497.54		\$979,802.50		\$1,022,823.93			
Comments								NON	RESPONSIVE				